SH2FEREHmIPRENL—R—)LEFIEXRE #HE
1HH (7H19H)

[A/<—}]
14—25
0 2
fEs I 16—25 Y
25—17 256—16
2 0 2 0
25—14 256—9
A 25—23 N
2 0
25—19

A= BIEAL AL fRF 247 - AR 3L ARETH 4462 B

[B/¢—}]
EIFITIR
25—10
2 0
256—10
Berd HH

25—17
0
25—20

B/ x— NMIERL - 1AL BETHS 247 #rEd 342 A



2HH (8H1H)

[ B4 S— 1] B - ?iﬂﬁﬁ?ﬁﬁp
9—25
0 2
20—25
95—22 6—25
2 0 0 2
95—292 11—25
f = e AP TR R
i 11—25
i 0 2
I 11—25 [
I S |
3L AJEH

105 - P EMER - RS 3L AJET AN BEmh

[ Az s— K]

ks
25—12
2 1
25—20
A 25—15 fiE 7
2 [23—25 |0
10—15

507 : fnl& 647 : €& 7AHL A



